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O AAAFz4
— $A o WE AQA7E zolE wlgH o R whYSta, EX VA0l =2 7ho|A
A 8-S Austud AEREES] tHo] Im? 91,0009 27 FHS
A 53}
<A A AU LS
(Ebgl M 2fm
o 4
NoHs | ASSSEXNA | A& | Kows | AsHasxE | Ax
1 100] 5} 80 1 100] 3} 80
2 102 2~300] 3} 82 2 102 3~300] 3} 82
3 30 7~500] 3} 84 3 302 3}1~500] 3} 84
4 502 31~1000] 3} 86 4 502 31~1000] 3} 86
5 10027 ~1500]3F 88 5 100 7~1500] 3F 88
6 1502 7}~2000] 3} 90 6 1502 7~2000] 3F 90
7 200% 7}~3500] 3} 2 7 200% ~3500] 3+ 92
8 350 7~5000] 3t 94 8 350 7~5000] 3+ 94
9 500% 2}~650°] 3 % 9 500 2~6500] 3+ 9%
10 650 7}~800°] 3 o8 10 650 7}~8000] 98
11 8002 74~1,0000] 3} 100 1 8002 7~1,0000] 3} 100
12 1,000 7~1,2000] 3+ 103 12 1,000% 7~1,200] 3+ 103
13 1,200% 7~1,6000] 3+ 106 13 1,200% 7~1,6000] 3+ 106
14 1,600 7~2,000] 3+ 109 14 1,600 7~2,000] 3+ 109
15 2,000 7~2,5000] 5} 112 15 2,000 7}~2,5000] 3} 112
16 2,500 7}~3,000] 3} 115 16 2,500 7+~3,000] 3} 115
17 | 3,000%3}~4,0000] 3} 118 17 3,000 7}~4,000] 3} 118
18 4,000 7+~5,0000] 5} 121 18 4,000 7+~5,0000] 3} 121
19 5,000 7~6,0000] 5} 124 19 5,000 7+~6,0000] 3} 124
20 6,000 2~7,0000] 3+ 127 20 6,000 7~7,000] 3} 127
21 7,000 7+~8,0000] 3+ 130 21 7,000 3}~8,000] 3} 130
2 8,000 7}~9,000] 3} 133 22 8,000 7}~9,000] 3} 133
23 9,000 7~10,0000] 3} 136 23 9,000 7~10,0000] 3} 136
24 | 10,000%37~30,0000)3 | 140 24 | 100002%-20000°1% | 140
25 20,000 7~30,0000] 3t | 145
25 | 30,000%7~50,000013F | 145 26| 300002 3-40000°1% | 150
27 40,0003 #}~50,000°] 3} 155
26 50,0003 7} 150 28 50,0003 7 160
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22548 A =g NS | ADE e I
. 22l A| UL 2 80,000 85,000
FECO S8S ol 32 110,000 115,000
e 22l Al B3| 2l 64,000 61,000
=R 2ds EEE 912,000
U2 67,000 76,000
JtoECC %’::HF;I SR 81,200 90,000
ST F=z3¢ 40,000 45,000
U BHS| 2 (1X}) 273,000| 273,000
o SIS Al U BHE| 2 (2X}) 296,000 | 296,000
e ==t 2 B3| 2 (3X) 338,000| 338,000
WEREED 771,000 771,000
221 5|2 (1%H) 180,000 | 176,000
22l 5|2 (2%H) 210,000| 210,000
I SIS Al 221 5|2 (3%H) 250,000 | 250,000
FHETIOIReC Zel™ 22l 5|9 (4R 250,000 | 250,000
VIP(ZH & (5XH)) 410,000 410,000
VVIP(& & (5%H)) 800,000 | 800,000
1%t 140,000 | 150,000
oxI 142,000 | 155,000
N HHAl 3%t 152,000 | 160,000
&=d 4%t 160,000 | 165,000
VIP3| & 610,000| 665,000
5%t 230,000
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2L ATX =32 NAEEo ADtEEe | BT
VIP(201)(1 1) 240,000 244,000
VIP(291)(27) 330,000 333,000
VIP(29)(37) 420,000 424,000
WIP(1 %) 650,000 680,000
ik WIP(2) 700,000 707,000
oolEce - WIP(3x) 740,000 747,000
2 eH(2 1)) 158,000 160,000
2 B3 )) 163,000 165,000
21 eH(4 1)) 176,000 178,000
oot 158,000 160,000
SETESNPA 110,000 117,000
SETEEPS 123,000| 131,000
szt 76,100 84,000
SREE 96,400 108,000
SREETE 103,000 110,000
ot zc 193,000 205,000
rargigalce |C_
=S zc 184,000 195,000
SESNPS 60,500 68,300
BI=LIA2(57)) 63,000 66,200
mo0!(31)) 45,400 45,400
I 0} 01 04 2 (61 52,000 52,000
221 (1, 27) 45,000 45,000
SZIICIOIAECC |24HAl o= H 2 gt 52,000 52,000
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PLUS(13H) 84,600 94,500
PLUS(2%H) 97,000 | 100,000
VIP(13H) 220,000 | 227,000
S S AGC SaA VIP(2%H) 234,000 241,000
k=
WP 393,000 | 440,000
2B (25) 160,000 163,000
21t 144,000 147,000
BoI(1XH)1/2 5 181,000 181,000
SOI(6XH1/2 % | 236,000 236,000
VIP(10%H)
RIS 210,000 | 235,000
350,000% &
VIP(10%H)
sorgo 364,000 | 364,000
500,000 % &
3B (10%)) | 36,400 85,000
40198 A - =E(17) 21,800 21,000
22s == (2xt) 27,600 27,000
2 EH(1H) 144,000 144,000
2 EH(5XH) 172,000 172,000
2 EHBXH) 218,000 218,000
2 EH(BXH) 66,800 66,000
OIZEHQIVIP(11Xt) | 254,000 254,000
CIRHOIMBRI(12R) | 119,000 119,000
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o7 51,000 50,000
IHOIREHQIRI 5| RU(=ZF) (1
b 67.500 67,000
HoI2K(13%t, 147 20,700 20,700
Hol ol M|
SI2IEIX] 1 63,000 63,000
(13x}, 14% 16%h
hol ol M|
SIZIEIX 2 72,000 72,000
(15X}, 16XH
ROl 0l R5|
(13X}, 14X+ 16Xh 185,000 135,000
ol ol Feel 2
(1%L 1678 115,200 115,000
el Bl == 63.000  63.000
(13x}, 14%}, 15%D ’ ’
i i Hol ol == (137} 81,000 81,000
4ol =2 A stotx? JHol ol o(14X}
- o o [P = Rl _D'C_g x,
s 1670 34,200 34,200
VIP 1(16%H) 225.000 225,000
VIP 2(16XH) 315,000 315,000
hol ol M|
I2IEIX] 1 63,000
(17xh
hol ol M|
SI2IEIX] 2 72,000
(17%h
Jhol ol M5
(17xh 135,000
ROl ol HE 2
(17xh 115,200
Hol ol == 2 (17 34,200
VIP 1 (17D 225.000
VIP 2 (17X 315,000
== HH7 =220 o8t 5| 2 41,500 41,000
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(e+9)
— con E] E]
2239 A X =SSH NHE | ADIE S
pIEEE= 45.100 45.100
Moz 27.300 27.300
2 01(1 %) £37.000|  237.000
2 01(2%}) 277.000|  277.000
o 1 01(3%}) 297.000|  297.000
=& g0t&cce —
S0 1Ol (2 2)) 217.000|  217.000
o BH(1 XH) 138,000  138.000
U BH2 T 145,000 145,000
o BH(37}) 158.000 |  158.000
ol bR E) 113.000 |  113.000
Il (1 %) 113.000|  113.000
Jhel(zra) 108.000| 108,000
@01(1 %) 220.000| 220,000
@ 01(171)1/2 75 109.000| 109,000
21 0! 216.000| 216,000
e
DsLEce oo ol 1/27%} 108.000| 108,000
3|3t
=5(37) 51.400 51,400
VIP(3H) 356.000| 356,000
HIZ= LA (3%H) 49,500 49,500
==(3%)) 29.700 29,700
o BH3 ) 110.000| 110,000
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E E
aco AT eaze  wmm) VS DO, b
S| R 53.37 4.360 4.360
2559 S oAl B
S| R 91.75 6.820 6.820
iU cus
G| 201.27 | 17.500| 17.500
Sl ML) 64 19,500 19,500 | 127
OII2ES) T o) SEMICED 123 | 32,100| 30,300 | 1273
=
aEE 5|2 (2101) 64 39.500| 39.500| swz
EERICID) 123 66.500| 62,700 | 67
2l (27]2) 80.92 14.600| 15,300
A9ED(2I19) | 1076 | 23.800| 25,000
AQEA(RINH) 108.14 26,000 25,000
" A9lEC(2I®) | 119.92 | 24.300|  25.500
HAIA
2| xE oo A9 ER(2I]2) 125.1 25.200| 26,500
HAE ORI L =T
CSOOARTIY) | 156.11 63.900| 67.000
L=ploe(20lm) | 18539 | 82.800| 86,900
c=oloc(2le) | 20466 | 88.200|  92.600
L=eon(2om) | 20713 | 90.000|  94.500
55.27 18,000 | 247z
Claia 55.07 14.800 9.000 |487%
_ HAE Al
= 0717 &l X
DR BEY S0 55.07 108.000 | 47
110.54 36,000 | 24727
= 29.100
110.54 216,000 | 47




2017\ 129 209 = o = 5 = A 595 3 (57)

(£l : &)

a2y AT exme  wmm) US| S, BID
AW Jfel 75.82 12,400 12,600 |1/127%

AW He! VIP 75.82 20,300 20,700 | /127

b el 107.96 18,700 | 19,000 |1/1275

AH JHOl VIP 107.96 26,500 27,000 | 1/127zt

zC el 145.89 |  30,500| 31,100 1/127%

Zc Jjol vip 145.89 |  44,500| 45,300 11275

ZoHElE ol 145.89 | 297,000 300,000 | 1/27%

ZoHEI JHol 145.89 | 120,000| 122,400 | 1/6=5

FULLRE JHe! 145.89 | 468,000| 475,000 | FULL

zc Jyol 181.73 | 39,000| 39,700 |1/127%

orarn | BE el v 181.73 |  53,100| 54,100 |1127%

=g StEHAIOf _

ot=8 =gy ol 181.73 | 343,000| 349,000 1/27%

ZoHEIE Jfol 181.73 | 137,000| 139,500 | /67

FULLRE JHe! 181.73 | 567,000| 575,000 | FULL

zc el 211.63 | 45,300 46,200 |1/127a

z=c Jjol vip 211.63 | 59,400 | 60,500 | 1/127H

EciErd el 211.63 149,000 | 151,500 | 1/67

ZoHElE Hol 211.63 | 382,000 388,000 1273

FULLR JHe! 211.63 | 648,000 660,000 FULL

A ol 75.82 15,500 | 15,800 |1/1273

A EQl VIP 75.82 23,400 23,800 | /127

Al gol 107.96 21,800 22,200 |1/122%
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A ol VIP 107.96 | 29,700 | 30,200 /1273
zZc ol 145.89 34,300 | 34,900 |1/127a
S Hol vip 145.89 | 48,400 49,300 1/i27x
BojElg Hol 145.89 | 303,000 309,000 1/27H
=oHElg ol 145.89 | 124,000 126,400  1/675
FULLRE ol 145.89 | 476,000 485,000 FuLL
=& gol 181.73 42,900 43,700 | 1125
_ oy [EEEEVP 181.73 | 57,000 58,100 |1/1275
S BEAM S same we 181.73 | 350,000 | 355,000  1/27H
ZoElg wol 181.73 | 141,000 143,500  1/67%
FULLRE &0l 181.73 | 576,000 585,000 FULL
zCc Yol 211.63 | 49,200 50,100 |1/127%
S Hol vip 211.63 | 63,300 64,500 |1/127%
Zojelg ol 211.63 | 389,000 395,000 | 1/273
Bojelg ol 211.63 | 153,000 156,000 | 1/6=%
FULLRE ol 211.63 | 656,000 667,000 FuLL
16-HHQI(1XH=2) 52.89 10,900 | 11,000
16-HHQl (2X+22) 52.89 12,600 | 12,800
oWz oraty| |16-THOl4RHE) 52.89 7,600 7,700
StOIEZelA ESH g opo—golierizey) | 52.89 12,600 12,800
16-H0-BIBOXESY) | 52.89 11,400 11,500
16-MHQl-life(2XH=) | 52.89 12,600 12,800
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16-THIVIP(1 XHEL) 52.89 22,500 22,900
16-JHOIVIP(2XHE2S) 52.89 27,900 28,200
16-JHIVIP(4XHE2L) 52.89 18,900 19,200
16-JHOMP-gOf(2XI22) | 52.89 24,100 24,500
16-JHOMPife(2XH=2) 52.89 24,100 24,500
16-JHOIVIP(ZH 25l 2) 52.89 21,400 21,800
16-THOWIP2(5XHES) | 52.89 19,000 19,300
16-HOIWIP(BRIES) | 52.89 26,800 27,000
16-THel (e 5l2) 52.89 9,900 10,000
23-JHol(1 XH2 ) 76.03 15,300| 15,600
23- Mol ) 76.03 17,500 17,800
Ol i 2 QFAFA
solcma A mso |23NRGTE) 76.03 10,400| 10,500
23-Hel(BXH=2) 76.03 7,600 7,700
23-HOl(7XHE2) 76.03 7,600 7,700
23-JHol-FULL 76.03 | 239,000 242,000
23-HOl-golf2XH=2) | 76.03 17,500 17,800
23-JHO-BIAQTIELY 76.03 15,300 15,500
23-HO-BTO(7TAEYY) | 76.03 13,500 13,700
23-MHOl-life(2XH2Y) | 76.03 17,500 17,800
23-HOVIP(1XH22Y) 76.03 27,500 28,000
23-HOIVIP(2XH 22 76.03 32,900 | 33,500
23-HQIVIP(4RIEL) 76.03 22,000 22,400
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23-JHOMP-golf(2XH=2Y 76.03 29,000 29,500

23-IHOMPife(2XHEY) 76.03 29,000 29,500

23-JHOIVIP(& &3] ) 76.03 26,000 26,500

23-HQIWIP2(5XHEY) | 76.03 25,200 25,500

23-JHOIWIP(5XHE ) 76.03 34,400 | 34,700

23-JHo TR 11 XH22Y 76.03 32,900 | 33,500

23-HR-EX(11 XH2Y) 76.03 25,200 25,500

23-JHOHAT IA(10XHE2Y 76.03 7,600 7,700

23-DHR-AJIB(10XH22) 76.03 7,600 7,700

ol a) o A A 23-HRHAIIO(10XH=2Y) 76.03 7,600 7,700
SIOIE”E|A | ASH | 28IHR-AID10XEY) 76.03 11,300 11,400
23-DHRIEIRI5IR) 76.03 14,400 14,600

23-JHRFIHHEHABRIEDS) 76.03 26,800 | 27,000

23-HR D HHB(BRIED) 76.03 19,000 19,300

32-HQI(1 RHE) 105.78 32,900 | 33,500

32-HQI(2XH2 ) 105.78 35,200 35,900

32-JHQl-golf(2XHEY) | 105.78 85,200 | 35,900

32-JHQl-life(2XH2 L) 105.78 35,200 | 35,900

32-JHOIVIP(1 RH2 ) 105.78 44,400 | 45,200

32-JHOIVIP(2RH2 ) 105.78 50,600 | 51,500
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EERE-E)
=2=9 semy  wam Sl e
32-JHOMP-golf(2XF=2) 105.78 46,800 47,700
32-JHOMPHife(2XI22) 105.78 46,800 47,700
32-JHRIVIP(EESIJ) 105.78 42,200 43,000
32-JHe (& E3IH) 105.78 30,600 31,200
32-JK¢! 105.78 323,000 | 330,000
46-IHQI(1 X2 ) 152.06 47,600 48,500
46-IHQ1(2XH= ) 152.06 49,700 50,500
46-7421-FULL 152.06 | 441,000 450,000
46-J12l-golf(2XHE ) 152.06 49,700 50,500
ofret el SEAL gp-e-2oERIEY) | 152.06 25,200 25,500
SIO|EE”Z|A A=H
ABIHO-BIATRIZES) | 152.06 25200 25,500
46-IH0-BHB(6XHEL) 152.06 19,800 20,100
46-JH2-2HB(7XH=2L) 152.06 19,800 20,100
46-I4Q1-life(@XI2L) | 152.06 49,700 50,500
46-JHCIVIP(1 X2 L) 152.06 59,000 60,000
46-THOVIP(2XHE L) 152.06 65,200 66,500
4B-HMP-Of(RXI2) | 152.06 61,400 62,000
ABHMP-ife@XIES) | 152.06 61,400 62,000
46-JHCIVIP(E 3 &) 152.06 56,000 57,000
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46-JHR1-AI|(BRH=2F) 152.06 19,800 20,100
46-7401 (2B R) 152.06 | 44,400 45,200
16-01(1 X122 52.89 14,700 | 14,900
16-2101(2xH =2 52.89 16,200 16,500
16-801(4x =2 52.89 11,200 11,400
16-EOl-golf(2 X2 ) 52.89 16,200 16,500
16-Ho-BIBOXIESY) | 52.89 11,300 11,500
16-Hol-life(2X22) | 52.89 16,200 16,500
16-HOVIP(1 IHEY) 52.89 26,100 26,600
olerel SEAL l-govip(exiee) 52.89 31,400 32,000
Bl0|EWRIA | ASH
16-HOVIP(4XHEDY) 52.89 22,500 22,900
16—HOMP-golf(2XF=22) 52.89 27,700 28,200
16-2OMP-life(2Xi=) | 52.89 27,700 28,200
16-HOIVIP(EESIH) 52.89 25,000 25,500
16— 2IWIP2(5XI=22F) 52.89 18,900 19,300
16-HOIWIP(BRIEE) 52.89 26,500 27,000
16-01(2E512) 52.89 13,500 | 13,700
23-HOI(1 AH2L) 76.03 19,700 20,100
23-H0I(2X12 L) 76.03 21,200 21,800
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23-"l(4xt=22) 76.03 14,100 14,300

23-8ol-(6XH2 L) 76.03 11,200 11,400

23-"HoI-(7TXHE L) 76.03 11,200 11,400

23-22l-golf(2XHZ L) 76.03 21,200 21,800

23-HO-=TA9XIE2) 76.03 15,100 15,500

23-Ho-ZTC(7AREY) 76.03 13,500 13,700

23-Hol-life(2XH= ) 76.03 21,200 21,800

23-HRIVIP(1 X2 ) 76.03 31,100 31,700

23-"HoVIP(2XtE L) 76.03 36,400 37,100

Ol el el 2 LFA

SH0|ETE| A A=d  |23-HVIPUXIEY) 76.03 25,600 26,000
23-BIOMP-golf(2XFE2) 76.03 32,600 33,500

23-HeNIP-ife(2XF22) 76.03 32,600 33,500

23-HRIVIP(EE3IH) 76.03 29,600 30,100

23— IWIP2(5XHE &) 76.03 25,000 25,500

23-HRIWIP(5XHZ ) 76.03 34,100 34,700

23-Eo-T2I(11XH2L) 76.03 32,600 33,500

23-HO-SR(11X=2) 76.03 25,000 25,500

23-BI0-AJA(10XF22) 76.03 7,530 7,700

23-Be-AJIB(10XH=L) 76.03 7,530 7,700
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23-EHO-AIC(10XH2L) 76.03 7,530 7,700
23— -AIID(10XH2L) 76.03 11,200 11,400
23-Hol(&eslR) 76.03 18,100 18,400
23-H0 I EABRIELY 76.03 26,500 | 27,000
23-EH0II{EHR(BRIELY) 76.03 18,900 19,300
23-gol 76.03 275,000 | 280,000
32-"HolI(1 =) 105.78 36,400 37,100
32-gel(2it2 ) 105.78 38,700 39,400
32-10I-FULL 105.78 | 357,000 365,000
32-gol-golf(2X+2 ) 105.78 38,700 39,400
32-gel-life(2xtEZ ) 105.78 38,700 39,400
Ol el el e 2 AEA
socmas| fso 32-2OIVIP(1 RH2 L) 105.78 47,800 | 48,700
32-HoIP(2xH22) 105.78 53,900 54,900
32-HOMP-golf@X1=2H) | 105.78 50,100 | 51,500
32-HOMPife(2XHEY) 105.78 50,100 | 51,500
32-golvip(&2Eal ) 105.78 45,600 46,500
32-Hol(BE3) 105.78 34,100 34,700
46-HRI(1 X2 L) 152.06 50,800 51,800
46-EHRI(2XH= L) 152.06 53,200 54,000
46— QI-FULL 152.06 | 501,000 510,000
46-82l-golf(2X 22 152.06 53,200 54,000
46-HHOI-BI(BXHEY) | 152.06 25,000 25,500
46-HR-BIA(7XH=L) 152.06 25,000 25,500




n
S
M
0K
HI

20173 12€¥€ 20¢ A 595 % (65)

(Er9l @ MK)
== geee  @am Sl mse U2

46-HRI-=TR(6XHE) 152.06 19,700 20,100

46-HOI-STR(7X2) 152.06 19,700 20,100

46-He Hife(2XH2L) 152.06 53,200 54,000

46-EHOMP(1 XH22) 152.06 62,300 63,500

46-HONIP(2X 22 152.06 68,400 69,700

46-ZHONMP—golf(2XF=2) 152.06 64,600 66,500

46-HOMP-life(2XH=22) 152.06 64,600 66,500

46-HOIVIP(ZESIR) 152.06 59,200 60,300

46-HOI-AJ| (62 L) 152.06 19,700 20,100

46-2oI(EE3IH) 152.06 47,800 48,700

2g-J 194.03 113,000 | 115,200

Off Cil 2l 2| OkAAl | ZBE-JIREEY) 194.03 189,000 | 192,000
SIOIEZCIA | ESY  2ejo0edeize) | 194.03 45,000 46,500
2E-J-2010 8H(2XI=2Y 194.03 60,800 62,000

22011 Z=ZABKES) 194.03 45,600 46,500

2520112586 =) 194.03 45,100 46,500

2 2011BIOBKERY | 194.03 60,300 62,000

LE-J2XHEY) 194.03 101,000 | 103,000

2 J-BOAUXIEY) | 194.03 45,100 | 46,500

28-J-SIBU4IEY) 194.03 45,100 62,000

2gi-J-A3) 194.24 48,000 50,500

2g-K 196.34 113,000 | 115,200

2g-K(1XH= ) 196.34 189,000 | 192,000

215K-2010 6HRXIE2Y | 196.34 45,000 46,500
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2E-K-2010 8&(2X=22) 196.34 60,800 62,000

2201 BIABKER) | 196.34 45,600 | 46,500

2EK-2011 ZEB3R=) 196.34 45,600 46,500

2EHK-2011ZZ0BAEY 196.34 60,800 62,000

2g-K@2xzY) 196.34 101,000 | 103,000

LE-K-SEA(UREY) 196.34 45,600 46,500

2UE-K-2EB(4XEY) 196.34 45,600 62,000

LE-K-BEC(4x2Y) 196.34 60,800 62,000

o e 2 OF AF A LE-K-ZED(4X=Y) 196.34 60,800 62,000
201=8el= 2=d 2g-K-AI| 196.34 48,500 50,500
2g-L2exEe) 230.03 120,000 | 122,400

24-G 240.36 151,000 | 154,000

2E-G(1 ) 240.36 227,000 | 230,000

2g8-G2xtzY) 240.36 120,000 | 122,400

2/e-H 245.32 | 151,000 | 154,000

ZE-HI =) 245.32 227,000 | 230,000

2Gg-H@ex=E ) 245.32 120,000 | 122,400

2 245.32 151,000 | 154,000
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2B 1) 24532 | 227,000 230,000
JERPHER) 24532 | 120,000 122,400
2E-CIX=2) 208.61 | 288,000 293,000
28-cxi=2) 298.61 | 151,000 154,000
28-0(1 242 2) 208.61 | 288,000 293,000
28-0Rx=2) 208.61 | 151,000 154,000
ol e ) BAAl -1 22 311.12 | 304,000 310,000
SH0IEH A d@=H
2E-E(2RI=e) 31112 | 158,000 161,000
2/8-F(1 TH22) 311.12 | 304,000 310,000
28-F2Rr=e) at1.i2 | 158,000 161,000
2g-M 31575 | 189,000 192,000
28-M(1 22 2) 315.76 | 304,000 310,000
2g-Mex =) 315.75 | 158,000 161,000
SIEA(LE) | 61.96 2270 2,270
SI|A(LE) | 87.03 3,180 3,180
2 ek
cmemms| o SIRMI(LE) | 99.02 3640 3,640
SIRH(ZE) | 108.8 3930 3,930
SIRHM(LE) | 11366 | 3,930 3,930
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HES |It5elal| Jts2lA Tha 175,000 140,000 -
HEFsS | ==otAl HsA Tha 28,000 36,400 | o s
HH=FS | ==ot4 Hs4 Tha 35,000 42,000 | s220l
X% e Tha 18,900 24,500 -
x| aE Tha 22,400 28,700 -
ax% | == Tha 21,000 27,300 -
IHE |[JtFclal| Jtselal Tha 44,100 44100 | ===
S Al
s | BIEA A LA Tha 5,950 7,000 | =K s
& | HEE A APIL Al Tha 6,300 7,000 | Hixet s
& | BIEA | 44 S Tha 9,100 7,000 | ==s
& | ==otAl HASAl Tha 17,500 22,400 | JRHIS
& | =0olAl sS4l Tha 33,600 33,600 | =s
& | =0olAl S Al Tha 18,900 24,500 | &= S
& | =0otAl sS4 Tha 21,000 27,300 | =<
o= | =04 HsA Tha 7,000 7,000 | oS
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HE | Hieral AT A 1ha 6,300 7,000 |utxiz s
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IHS(ZZIRh | HHEHA AL A Tha 42,000 42,000 [M2e s
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s HHEH Al AT Al Tha 11,900 15,400 (W= &
i HhE A AT A Tha 31,500 28,000 (M2 s
= S A AL A Tha 28,000 28,000 [ttxiza S
i Hietal | £44 5 1ha 10,500 13,300 | &= s
IS 254l SN 1ha 44,100 44,100 | 22 <
IS 254l ol Al 1ha 25,900 33,600| =25
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M M= B9 | BiH ey ADjEEe U2
IE2 B EN= 276,800 263,000
s=E 1B ES= 186,400 177,100
b= DhA2 | 141,600 134,500
e SFO0tE A 50,400 47,900
=N fulls| PAES
HtOI 2 1B ES= 70,400 66,900
AIES2H01£1,2,3 | 1HAE 69,600 66,100
E&201E IBLEN=; 75,200 71,400
HICIS2H0l1 & 1A 44,000 41,800
2| &8=0t HAE 63,750 68,000
OfRIOIBIOZ 1A | 24,000 24,000
2JL0IMOI2 1HAE 136,000 136,000
EI=Al A= O & EHA [BLENE, 216,000 216,000
OILIZ20IE(EY) kAT | 21,600 21,600
=ctAdIolA 1HAE 320,000 320,000
2AHE [BLEAE, 120,000 120,000
SINE | 1HAZ | 3,296,124 3,296,000
EAN Adt0lReIRE
HZ(CIZEIN) 1HAE 4,176,000
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OIL 21 k¢ [PLE= 20,000 20,000
Bl Uil X1 OF 1A 17,600 17,200
SEEL 1HAg - 18,400
>1 50 AMHE HOHE THAE 28,000 27,600
JtOkeH & AJH0I2H01 & 1A 32,000 32,000
A= | Xt 1HAE 144,000 144,000
HIAAZ THAE 28,000 28,000
HNHESHEI(EDICICIAD) 10HAE | 144,000 144,000
L=JIXt 1A 800 3,200
S ol Al HEEE [Pl E= 3,200 3,000
& =0t THAE 60,000 60,000
Zol 0= & AAHEE O E 1" 240,000 240,000
EISIN0IS(MUTIEE) 10HAS | 160,000 160,000
ERlCIH(AUS==2) 1HAE 73,600 73,600
MUAZS20IS  1HAZ 656,000 640,000
2 off AUFEsCH0lE 12" 200,000 212,800
FORELI yymozeos 1442 80,000, 80,000
AUPICIEE0IEE 1A 13,600 13,600
A L0 0HSd0 12| 608,000 600,000
KOIAERIOIE(AMEE) [ 1IHAE| 1,624,000 | 1,624,000
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L= L=
N2Y | A NEEL- =
AMQIIIZQAZ  {IHAL| 12,000 12,000
EUI0ISS20|S  [1HASH 1,648,000 | 1,648,000
HEAS2H0|S 1AL 1,584,000 | 1,584,000
AOPICISZIOISE] |1HAZ 11,200 11,200
AOPICISZIOIEED |1HAS| 22,400 24,000
AOPICIBRIOST  1JHAS 18,400 18,400
AOPICISZIER  [1JHAS| 18,400 18,400
AIQIOIOFZHI0l | 1A 3,728,000 | 3,728,000
513 SaEp) b 1A 3,880,000 | 3,880,000
205 Al ~
XOSEI2 21 S 2/ 1IHASH 2,944,000 | 2,944,000
Folaz2olS | 1IHAZH 1,144,000 | 1,144,000
ME=ztolS 1HAS 784,000  784.000
& 2tol AL ~| 96.000
e 1WA 1,456,000 | 1,456,000
SEBAH 1HAS 2,656,000 | 2,656,000
Bmeizzols | 1JRAZH 944,000 | 944,000
ROIMESHD | 1JHAS 1,312,000 | 1,312,000
ol c Al 1HAS 712,000 712.000
Qlof
QI Ok A| 30123t 10 AS 5,600,000 | 5,440,000
AS:I0|2}
SHD(C2HIRY) | 1HAZ | 459,200 | 464,000
H _
210125210/ E(5H=+
HAA QEH0| ) 1HASH|  247.200|  248.000
CERESS -
HICIZ2101S(IY) | 18ASH | 140.800 |  144.000
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Neg | Aed Negd S BiEEe ADjEEe | BT
EQAESRI0IS(E2HT) | 1HAS | 211,200 | 216,000
IPN=EIEIE 1A | 460,800 | 464,000
AR SIE{ZaA 1HASH | 389,600 384,000

HAHIAl LHEH 0l

(o2 EE) NEE 1A | 204,000 200,000
Rr=E 1HAS 87,200 88,000
3|=&201= 1HASH | 43,200 43,200
sspE(RE) 1HAZ | 960,000 960,000
V] 1HAY | 520,000 520,000
sl® =0} 1HAY | 560,000 560,000
I 9} 1HAZ | 296,000 296,000
=80 1HAS | 280,000 280,000
oxme)| 1HAZ | 280,000 280,000
TE! 1HAY | 297,500 280,000
osaiAl | EC EET O W31 E2000 1HAY | 216,000 216,000
Catss 1HAZ | 128,000 128,000
IEE 1OH4% | 720,000 720,000
o= XHE 1OHAS | 240,000 240,000
Sxpatxt 1HAZ | 840,000 840,000
=Sl 104 | 1,200,000 | 1,200,000
SHIIl A 340 1HAZ | 160,000 160,000
Jer2ux 1HAZ | 200,000 200,000
ADY M AF B 1HAS | 240,000 240,000
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N=S =3 HE=s B9 SiHEe AEE
EHEFXI OFA | &F 1JHAS | 2,800,000 2,800,000
=M ) A BN = 880,000 880,000
ColAetE Rl | 1A 320,000 320,000
DA 1JHAZ | 2,000,000 2,000,000
= 1A 120,000 120,000
S40E BN = 48,000 48,000
HICIZ2t0l = (A1) | 1A Y 200,000 200,000
BFERECI01=(1,2,34) | 1HAS 240,000 240,000
o2Es2101E 1A G 240,000 240,000
ATES20lE 1AL 64,000 64,000
SEHQESR0E | 1HAY 320,000 320,000
SHHES20E | 1HAY 240,000 240,000
QLA | S S SHEHRIOF O 0tZ 20l 1A S 480,000 480,000
ALHHICISR2I0IEA | 1oAY 56,000 56,000
ALHHICISR2I0IEB | 1A 56,000 56,000
AZEZZ0|E 1A 16,000 16,000
IEE 1JHAS | 1,200,000 | 1,200,000
EE 2 1A 560,000 560,000
AlLHOFROZ 3l 0] 1 AE 96,000 96,000
DOIRHAMHADIRE) | 10HAE 41,600 41,600
HEAER 1JHAS | 2,800,000 2,800,000
OlLIHOl 1A G 36,000 36,000
0ILI3 & =20t 1 AG 40,000 40,000
SUIQ0ILISETA) | 1H2Y 34,400 34,400
Z 210l Hl0lHI 3t 1A 20,000
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